B APNaLS_4eALA

UEILA40_LZA4E Y

=
o

[

0.5

alphal3_4eX1X:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

delta46_12X4eY:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum

alpha4b_4ey4ay

6200

5199.5

6199

5198.5

6198

5197.5

6197

5196.5

6196

alpha46_4eY4aY:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum

run:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

deltal3_lzx4ex

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

segment:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 6198}

P -
e e e eeeeamaenaaaaan .-

5716 5716.5 5717 57175 5718
cyclenum

usl_4eY:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

usl_12X:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum

usl_sex

6200

5199.5

6199

5198.5

6198

5197.5

6197

5196.5

6196

usl_4eX:cyclenum {run == 6198}

[

5716 5716.5 5717 57175 5718
cyclenum

run:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum



USI_L1A

usI_aey

usr_1X:cyclenum {run == 6198}

0.5

=

_..E ................... * ......................
PR B RPN B
5716 5716.5 5717 57175 5718
cyclenum

usr_4eY:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

usr_12X:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum

usr_aex
=

6200

5199.5

6199

5198.5

6198

5197.5

6197

5196.5

6196

usr_4eX:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

run:cyclenum {run == 6198}

57175 5718

cyclenum

5716 5716.5 5717



0446.2F

20446

0445.8F
0445.6
1445.4 F

0445 2

20445

0444.8

0444.6

444.4 F

0444.2F

20444

usi_culo

=

usl_coill:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

usl_caoil6:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum

3262

3261.5

3261

3260.5

3260

[

usl_coll/

0.5

usl_coil3:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

usl_coil7:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

4745

17445

4744

1743.5

4743

6200

5199.5

6199

5198.5

6198

5197.5

6197

5196.5

6196

usl_coil4:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum

run:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum




19215

9215.5

19216

9216.5

19217

=

usI_coio

usr_coill:cyclenum {run == 6198}

ol v by b a1y
5716 5716.5 5717 57175
cyclenum

usr_coil6:cyclenum {run == 6198}

ra
5718
cyclenum

1 1 1 L1 1
5716 5716.5 5717 57175

2572.6

2572.8

-2573F

573.2

2573.4

2573.6

2573.8

—2574

2574.2

2574.4

2574.6

574.8 F

usr_coll/

0.5

[

usr_coil3:cyclenum {run == 6198}

i BT L1 L
5716 5716.5 5717 57175 5718
cyclenum

usr_coil7:cyclenum {run == 6198}

L
57175 5718
cyclenum

1 TR L1 1
5716 5716.5 5717

usr_coil4:cyclenum {run == 6198}

1298.8 F
1298.6
1298.4F
1298.2

4298
12978
1297.6
1297.4
1297.2

4297

1296.8 F

cia M
5717 5717.5 5718
cyclenum

1296.6

run:cyclenum {run == 6198}
6200

5199.5

6199

5198.5

6198

5197.5

6197

5196.5

5716.5 5717 57175 5718
cyclenum

6196

1 L
5716




-298

-298.5

—299

-299.5

-300

-318.5

-319

-319.5

-320

-320.5

1X_coill:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

4eX_coill:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

1-18.5

-19

-19.5

-20.5

-40.2

-40.4

-40.6

1X_coil3:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum
4eX_coil3:cyclenum {run == 6198}
P I I BRI AR I
5716 5716.5 5717 57175 5718
cyclenum

1X_coll/

4eXx_coll/

[

05

[

1X_coil7:cyclenum {run == 6198}

I AT TR AU IR
5716 57165 5717 57175 5718
cyclenum
4eX_coil7:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum




198.5

198

197.5

197

196.5

207

206.5

205.5

205

4aY_coild:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

4eY_coil4:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

4ay_collb
=

0.5

4eY_collb
=

0.5

4aY_coil6:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum

4eY_coil6:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum

4ay_coll/
=

05

4eY_coll/
=

05

4aY_coil7:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

4eY_coil7:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum




12X_coill:cyclenum {run == 6198}

-221.5

-222

-222.5

-223

-223.5

1ZA_CUNO

1

5716 5716.5 5717 57175 5718
cyclenum

12X_coil6:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

-82.2F

-82.4

-82.6F

[

12X_coi/

0.5

12X_coil3:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

12X_coil7:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718

cyclenum

o
o

12X_coil4

35

6200

5199.5

6199

5198.5

6198

5197.5

6197

5196.5

6196

12X_coil4:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum

run:cyclenum {run == 6198}

5716 5716.5 5717 57175 5718
cyclenum
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